S-38.153 Security of Communication Protocols

Exam 8.5.2003 
Student number
Q1
Q2
Q3
Q4
Pres
Slides
Sum
AS
Exercise


51272M
6
6
6
6
3
3
30
5
A

51354U
5
5
6
6
3
3
28
5
A

54089T
4
6
6
5
3
3
27
5
A

49948U
4
6
6
6
2
3
27
5
A?

49803E
4
5
5
6
2.5
3
26
4
A

48234P
6
5
5
5
2
3
26
4
A

52285U
4
6
6
4
2
3
25
4
A

48714V
4
5
5
5
2
3
24
4
A

48110C
6
6
4
3
2+
3
24
4
A

56989K
4
5
5
4
2.5
3
24
4
A

46446M
5
6
5
2
2+
3
23
4
A

50702M
4
5
5
4
2
3
23
4
A

52635F
4
4
6
3
2.5
3
23
4
A

59727M
5
5
6
-
3-
3
22
3
A

44189S
4
4
5
3
3
3
22
3
A

51394W
4
5
4
5
1+
3
22
3
A

49903L
4
5
5
2
2.5
3
22
3
A?

48104T
3
5
5
3
3-
3
22
3
A

49887P
3
5
4
3
3
3
21
3
A

59868W
5
5
4
2
2+
3
21
3
-

48120P
4
5
6
1
2+
3
21
3
A

49747F
2
4
5
4
2-
3
20
3
A

49880F
4
4
4
2
3
3
20
3
A?

50218B
4
5
3
2
3
3
20
3
A

55330C
2
6
2
4
2.5
3
20
3
A

51355V
4
4
5
1
2+
3
19
3
A

57317R
1.5
6
2
4
1+
3
18
2
-

51809T
-
5
2
4
2
3
18
2
A

49983R
3
4
3
3
2
3
18
2
A

54157J
2
5
4
1
1.5
3
17
2
A

57245V
1
4
4
3
2+
3
17
2
A

46974H
2
3
2
5
2
3
17
2
A

49901J
4
6
-
1
2+
3
16
2
A

49981N
3
3
3
1
3
3
16
2
A

57325C
2
4
4
1
2
3
16
2
A

48252N
1
5
2
2
2
3
15
2
A

49900H
1
5
3
1
2
3
15
2
A

57395T
2
4
4
-
2
3
15
2
A

49845K
2
3
2
-
2
3
12
1
A

49756S
2
4
-
-
2+
3
11
0
A?

49709F
3
3
3
1
-
-
10
0
A
??

45511H
-
4
-
-
2
3
9
0
A

49808L
2
1
-
-
2+
3
8
0
A

You must have exercise report accepted to pass the course, there should be A in the Exercise column. If you have A?, contact Jarmo Mölsä, there is some question, maybe you should improve the report. If you have ??, contact me, you are from last year and must make Pres and Slides to pass. If you have – instead of A, you did not return the report, return it ASAP to Mölsä.

As you see all Slides got 3/3. This does not mean they are perfect, like GTP is normally GPRS Tunneling Protocol, not transport protocol. So, there are errors as in slides always. It may be of interest to you that most students in their feedback evaluated the slides to 2/5 – 3/5, but I think they are all fine.

Do not care to come to complain of the grades, I already went through the border cases again and raised those I could. The evaluation is mild. However, maybe the exam was a bit more difficult but my goal was to get some distribution of grades. 

30,29,28,27  = 5,  26,25,24,23  = 4,  22,21,20,19  = 3,  18,17,16,15  = 2,  14,13,12       = 1,  11-0= 0

Jorma  Jormakka

